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MAT257 Analysis Il on February 8, 2021: Vector fields and differential forms.

Read Along: Spivak 86-92.

HW14 will be on the web by midnight. It will be due on the next teaching Monday.

Riddled before: Is there a continuous surjection f:[0,1]->[0,1] which is constant on a set of intervals whose lengths sumto 17
Riddled before: A unit cube in R*3, the area of its projection on any plane is equal to the length of its projection on a perpendicular
line to that plane.

Just learned from Tanya Khovanova, https://blog.tanyakhovanova.com/2021/02/the-anniversary-coin/: Eight out of sixteen coins
are heavier than the rest and weigh 11 grams each. The other eight coins weigh 10 grams each. We do not know which coin is
which, but one coin is conspicuously marked as an “Anniversary” coin. Can you figure out whether the Anniversary coin is heavier
or lighter using a balance scale at most three times?
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MAT257 Analysis Il on February 10, 2021: Differential forms and d.

Read Along: Spivak 86-92.

Reminder - TA Office Hours: Sebastian Monday 11-12, Shuyang Wednesday 3-4; a great resource!

Learned from Tanya Khovanova, https://blog.tanyakhovanova.com/2021/02/the-anniversary-coin/: Eight out of sixteen coins are
heavier than the rest and weigh 11 grams each. The other eight coins weigh 10 grams each. We do not know which coin is which,
but one coin is conspicuously marked as an “Anniversary” coin. Can you figure out whether the Anniversary coin is heavier or
lighter using a balance scale at most three times?
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MAT257 Analysis Il on February 12, 2021: rd |
Read Along: Spivak 86-92.

Reminder - TA Office Hours: Sebastian Monday 11-12, Shuyang Wednesday 3-4; a great resource!
Reminder - next class in 10 days!

Riddle Along. On Z x Z, a visible roach R starts at (0, 0) and once a minute jumps to the northeast, up to a distance of 10.
Meanwhile, an exterminator E can poison one grid point per minute, away from R. Can E trap R?
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